o 194 ¥ 0 = AD
DC , BC ¢ Z+7F zdsfiqlct.
AD 9] Zo|7} 5em , BC 7}
l4em & o, 9 O 9 259

dol=?

D 2v/70cm @ 3v70cm ® 3v/70cm
@ 44/70cm ® 5v70cm



t+2 1A AC, CD, L uk O o] HAo]1 CA =4 cm

B DB =
8 cm & m, §Hd O 9] REX|F 9] Zol& F5tofzt.

)




th2 733 e 91 O o4 CMLAB, CM = C

dem , AM = BM = 4vGem & of, o] 91¢] A{L\
A * " B

Blo] & stolet B
4\/gcm M

0]




4.

cheat 2ol uIKgel 10 91 99 F4 0 ol @ AB °
W, 9 g7

P
A

tlo

Ui

;i

tlo



S g3} o] Az ABCD o] Al Hof Asl= ¥ 0 7} 9t} DE

=1 = = -
7} Q9] HAo]1l, DE =25, DC =24 ¢ wf, BE ] Zo]Z Fa}oizt.
A H D
G/(.) zé 04




o2 O3 Zo] §tEo] 4em 91 €
O °fl £]35k= A+ ABCD 9] 7+ ¥zt
A0 HHEALE F, G Ha & o,
ArZted o] Yol & totolet. (v, ©@ele
Aersict)

o T1 1=




o, AABC =

o]
=

ON, ZA=36°

OM =




ths ™04 AABC ©f 9399l 25| 4ol 15em o]al WA
&2 Zol= 4em |t} AB 7t @3 €e] A5 uwl, AABC ©] Holg
ToHE? (9, £C & HZolt)

@ 3lcm? @ 32cm? @ 33cm? @ 34cm? ® 35cm?



ofzt.




5]

f)

1}

]
=

D, E, F



